
���������	
���
�
��	��	��
 
 ����
�
��
�


 
 









������������

����


������������������

��  ����!!��

������

������""����

������

����

������������####$$















�$����




�%
���




������������������		

������

��������		

��

������������������������������������

��������				����
�

� ������� ��
��	����� ���
�������� ��� �� ������
�� ��  �� ! �" 
� 
�
��   � �
�

�		��# ��������� ���
��	���
����� �$ �	����   � �% �� ����� & ' ��

�








!���$����

�




$&$!'��($
�'##��)
 
 
 
 
 
 
 
 
 ��



�*
 �'"#������
��
��$

����
�'##��

 
 
 
 
 ��



�*
 ��������
���
� ��!�
$!���#�!
���
��
���
�$($���#$��
 +




�*
 ���(��!���
$!���#�!
���
��
���
�$($���#$��
���,$!��
 
 -





+*
 ��!��
���,$!��
 
 
 
 
 
 
 
 
 .



-/�*
 �$!���
���,$!��

 
 
 
 
 
 
 
 0













�

�

����������	
���
�����������������
���
���������
������������������������ �!"�#"$�%&������
����#����
��'���(��
�����)����*�+,$*!+��-� ��)����*�+,+�+)��	��������./��
���.
�0(�01�����
���.
�/������0(�01���...0��
���.
�0(�01��

2�������
���3�	��(��
�������������(��(��'��������'((�4'�2'5�'6�2	���7�������8�������4'�%%4�%�����9��'�:����
��
���;��2��������
�'��'9�8�
�����;�����4�'9�<��������������2��
1��������(������������������������������'<2������&�

4��������74�9�4����
���2���.��4�49�	������4������2��9�����(����4�
������4�49�%��������4�=������&��'47�%�����9�
>��9�<�������:������7�=�%�.�%�����9�����������0�?�������.�
��%�������(������������������'�����7�
���.
��2�=�
���



���������	
���
�
��	��	��
 
 ����
�
��
�


 
 

������������

����


������������������

��  ����!!��

������

������""����

������

����

������������####$$






�$����

�%
���


������������������		

������

��������		

��

������������������������������������

��������				����
� ������� ��
��	����� ���
�������� ��� �� ������
�� ��  �� ! �" 
� 
�
��   � �

�		��# ��������� ���
��	���
����� �$ �	����   � �% �� ����� & ' ��




$&$!'��($
�'##��)




���� <�
���.
�� @��7� 	
��
�� ���������� �� .���� ������ ��� ;�&� ������9� �
��
������ ���� =��A�(
�� ����
�11�2����3%�
�1�%�431
������������
�
���=������������
����������
���=���
0�'������������.��������
��

���@��7���==��
����
���������������������?�=�����
�
���������������
9�(����

�����������(��
�(������0����
������
(���������(
����
������(����
���
������(��
����
����
�9�.�
��� (�=
�������(���������.����������&0��
�
����5�3��3�6� ��.����(��(��
��3452�4�%���3�%
 �%7
�3%�%13%�
5��1�88�8� �
�������
���0����������.,�=�
=���������9����3%�
:�6�%7
 ���
�;443�8<����=�����������
�������(��
����������
��'���(�9�'���(������
��&���0�<�
���.
��.���������22��3%�
;5����=��A�(
��
��(
������������=�����
�
����.�
��<�
�����9����
��(����
����%�(���8�
������
�9������������������
����9���
���=���
������(�����
�
�
����������
�����
�;��������0��





�*
 �'"#������
��
��$

����
�'##��




� ?���
�������������
��
���@����������
���(��
����
������
��=������������.,�=�=��(�����9�<�
���.
�3�
�
�0�� ��==��
��;���%�� �11�2�����7
3452�4�%���3�%����
���@��7��������������'(
���9�'���������

��������
���(����
���
�9����(��=����(��.�
��3%���%��3�%�2
2���
7�4�1���31
��=��%�%1�
�%7

8;��313�%�
 1�%8�%8;89� ��(������� 
��� 4���������� 8����9� 
��� 7���� 7�(����
���� ���� @���
7�
���=���
�:����9�
���4��
����&�2������������-����(��������7�
���=���
�����
���:����@�����
-���� �����
� 7�(����
���9� 
�� �(���
�� 
��� ������ ��� ���
�������� ��
���=���
9� �(�����(� ���.
�9�
=�
��
&�����(
���9���(�����B��
&�������
�������
���(�����
�
�����������
����&��������(�����������

�
�0�� ��==��
��3%���%��3�%�2
7�4�1���38��3�%
�
�
����3���8�
2�=�28�����(�����(9������(���9�=���
�(���

������
���=���
����
�
�
����9���(�������
���C<9�@��������;9�?4-�����@��9�.�
���������������(
�
��
=��
�(�=�
���������(��������;���9������������������(�������������
�����
�����������(����&0�

�
�0+� ��==��
��;���%��3%�������7
�������3�8������11�2�����7

3452�4�%���3�%����
���@��7��
�

�2�:�2�
���3�%�2�
���3�%�2�
���=3%13�2
�%7
��1�2
��
���9
��(�������(��(��
��(����
���
������
=��
������=�9�.�
��������
��
����
�9�
���������.��;�9�
����
����
��������������
��
����
�
�
����9�
�����(���9�
�(���(��9�(�=�(�
&���������������
���������������==��
��

��
�0*� ��==��
��
�����
���������
�����

��27
��237��3�6
 ;%7�
���������
����(���
����
����
������������

=�
��
&������(�
�����������
����������
���=���
9������(��������� ��
����������.�����(�����������9�
��(��������
�������7�
���=���
�'��9�?�
����
������-��(���:�
��������������
�
�
��=��������
?�
��
���
�?��
�����
����(�����8������7�
���=���
�������

 
�0$ S�==��
�����1��
���7
��23�31�2�
$1�%�431
�%7
!��5�����
��=��%�%1��
7���(��(&9�
���:����

���%�.�����������:���
���
�?�
����
�����9�:������������<�
������%�
���9�3%
:���
���
��=�2�5�7

�%7
��=�2�53%�
���278��
������������
����������
��&�����(��
�(����
�
�
����9���(�����
���C<9�
��������
������5���22�2
5��1�889�����%��
�8
�
5��/1�%73�3�%��������
����������
���=���
�

�

�

����������	
���
�����������������
���
���������
������������������������ �!"�#"$�%&������
����#����
��'���(��
�����)����*�+,$*!+��-� ��)����*�+,+�+)��	��������./��
���.
�0(�01�����
���.
�/������0(�01���...0��
���.
�0(�01��
2�������
���3�	��(��
�������������(��(��'��������'((�4'�2'5�'6�2	���7�������8�������4'�%%4�%�����9��'�:����
��
���;��2��������
�'��'9�8�
�����;�����4�'9�<��������������2��
1��������(������������������������������'<2������&�
4��������74�9�4����
���2���.��4�49�	������4������2��9�����(����4�
������4�49�%��������4�=������&��'47�%�����9�
>��9�<�������:������7�=�%�.�%�����9�����������0�?�������.�
��%�������(������������������'�����7�
���.
��2�=�
���



���������	
���
�
��	��	��
 
 ����
�
��
�


�0#� ��==��
��
��
�3�
��3%1352�
���!�44�%
:;�
�3�����%�3���7
��85�%83:323�3�8����
���
��=�����
�
�������'��������9�
���@��7���������?�=�����
�
������������
�����������
�
���.�������

���=���(�=������
7�4�1���31
4�>��3�6
�;2�
����8;��313�%�
1�%8�%8;8������
����
���������
�
�
�����

�
�0)� <�
���
���;���%16
��
���
%��7
���
�11�2�����7
�%7
"�2�%1�7
$1�%�431
�����������

7�
���=���
������
��
�����
���=���������
���=����.�������
�������
���9�
���.�����������������
�����
��
.������(������=���9����=������(����
��������=�
��
&9��������������������������&������������
���
.����9�
����������������(
�����
���������������������(��������7'�������
��
���
����.�9���������(
���
��
�����������
���C<���(��������	(�����(����
�&�����9�
���@��������;�7�
���=���
�?���(�
���������
����
���@��������;�7�
���=���
�:�=��
����+�

�
�0!� <�
���
���3%���7�5�%7�%1�
���
���8������	(����&9�.�
����
������
�
����=��(�
���������=���
�
��

=�
��
����������
����
���=���������
���=����������������
��
�
�����������(����&���&�B�����=���
��
D�*��
��������.�
��"���������=��=����
���
����� 
�$��&�����.�
��
���=�
��
����
�
83�%3�31�%�26
��7;1�

5�=���6
��
7��5�%
���
73=37�8�5@��������;�7�
�:�=��
����+6��
�

�0"� <�
���
��
�
���7�=�2�5�7
���27
%��78
���
7�=�2�53%�
���27��������
�����������.
����&�����
��
��
���������
�(����;�
�9��8
4;1�
�8
���
7�=�2�53%�
���27
%��78�
����9���
��
���
�����
��==��
������
�����
���=�����
����9�����
��
�86%���38�1
�3%/�3%��
��
����������
�
����

�
�0��� <�
���
��
�:�2�%1�7
�2�:�2
�?5�%83�%������
�����=�2�5�7
���3�%8��(��=��������������@ ����


���.����E��=�=���
���9���
���
��=�2�53%�
���3�%8�(��=������������A�@ �
�������$1�%�431

������
�%7
��=�2�54�%�
5���%�3�2���
8�4��A/��
�34�8
��
����
����
���=����
�������
���
(�����
�&�� =�����(�������,+F�=���������

 
�0��� 2���������
���
���
�2�%
��
�452�4�%���3�%
��
:�
�%��%1�7
83�%3�31�%�26
��
���
2�=�2
��
�


9#��8��22
�2�%<
��
%��
9�2�:�2
���2<B
3�*
�
C;�%�;4
���5
"���D����;��
���
�11�2�����7


�2�:�2
��1�%8��;1�3�%�
$1�%�431
������
�%7
��=�2�54�%���.�
��
�����(�����&���
����
������
(����
���
�9�������(����������
�
�
�����������.��;�����(��=���
�����
���
����
�����9���������9�
��
������������(�����
���9�����������������
������
�����(�������
��������
���@��������;�
7�
���=���
�:�=��
����+0��

 
�0��� ���=��������/�1�3=�
3%�������7
�������3�8�
���11�2������:�2�%1�7
8;8��3%�:2�
�1�%�431


������
�%7
7�=�2�54�%�
�
�8�����9�:�������9�<�
�����9����
��(��������%�(��
��
���9���������
����
���
�?5�%�%�3�2
������
5���%�3�2
�%7
�3%/�3%
86%���3�8�=����������
.������
���=�������
��
���=�������������������(��=���
�
���==���(���������������(����&����.:%�=��=��0�

�
�0�+
 2�����������7�731���7
�%7
8���%����%�7
3%8�3�;�3�%�2
���4����D
�%7
52�%
��
�1�3�%
��


��1;8
�%
$1�%�431
���������
3%���%��3�%�2�
���3�%�2�
%��3�%�2
�%7
2�1�2
2�=�28�����
(��=���
����.�
�����
�
�
�������(�����	2���29�C<7�9�@��������;9�?4-9�@��9�:��������7�
���=���
�
'���(���9�8�
������
�9���������9�%�����������
�����
�;���������

 
�0�*� ���=������
��2�:�2
�%7
���3�%�2
��=�28��
�����
���=���
�������=�����
�
���������.��(�����(�

�
��
������
����������
����?5�%�%�3�2
�%7
86%���38�31
������
5���%�3�2�������� =��������������
���;�
�����=��
.
:3223�%
5��52���.�
��.��,.���������
������
��������������=��
�(�=�
�������
����������
�(����&�������������������(��=���
����

�
�0�$� 	�=��������
������/�1�3=�
��2�8
��
���
�;:231
�%7
��3=���
��1���8������
�����
�;������������

���
����
���=��(����������
���������(�����(����.
��������
���=���
��
�������
���0��
�
�0�#� <�
���
��
���=�2�54�%�
�%8�3�;�3�%8�����(�
�������(���������
������(����
���
�
��
���@��7�����

����
���=��(�����9�����
����
��������=�
���&�4�
��2����������
���
��27
"�%D9����������(B��
����
'���(��-���(�������7�
���==����
9�����,���������
�����2	��������=��(������������
���������"����

�
�0�)� <�
���
��
�
���
���
������44�
��
�452�4�%���3�%
�����(
���
���������
�,��
�����(����
���
��

���� (��
���� 
����
�9� .�
�� ����� � (�=
����� ��(�� ��� ����.����� �����&� ���� 
��
�
���5�3��3�6
 38

1�%1����
3452�4�%���3�%����������(����=��(�������
�������
���0��

�
�0�!� '�����(���
���<�
���.
�������.,�=�=���������9����3%�
:�6�%7
 ���
�;443�8<�
=�����������


��������������
�������G+���������
��
5��>�1�
3452�4�%���3�%
�%7
�3%�%13%�
5��1�88�8�
����
(����� ��� 8�
������
�9� ��������� ��������
����9� 7�
���=���
� '���(���9� -����(�� ?��
�
�
����� ����
�
�����
�;�������������=��
�(�=�
��������(��=���
���0�

�






���������	
���
�
��	��	��
 
 ����
+
��
+


�*
 ��������
���
� ��!�
$!���#�!
���
��
���
�$($���#$��

�
�0�� ���3�%�2�
���=3%13�2�
��1�2
�%7
��1����2
�������3�8��������
��������7�
���=���
������
�����

��
����
��� .�
�� �(�����(� ���.
�� ���� ��
���=���
� �
��
������ ���� �����(��� ��=�����
�
����
=��(�����0� <�
���.
�� ���� ����
������ �������(��
� =�
��
���� ���� �((�����
���� �(�����(� ���.
�� ����
��
���=���
9� ��� �� ������ ��� (���� �
�����9� 
����������������(
�
����
����
���4�(��,� ����4�(��,
	(�����(�=���(���9���������������(�����(��
��
�����9�=���������9�=��A�(
�9�=��
������=�9�(�=�(�
&�
�������������=��������(�����������
�
�(���B���9���(�������
��������.���3�

�
�0�� $%��%1�7
 381�2
�������3�8
�%7
�;:231
��1���
#�%���4�%��=��(�������������������(�������

:�
�����2����(
���9�7���(�
�����7��
�4��������
9����������
��
����&����
��'���(�9����.�������
����� ����(
�
�� 	 =����
���� 4��������
9� �����(
�
�� ?�
��
���
9� �������� 7����
�(� ���� -�������
?�
��
���
9����������(��4��������
9������������������9������
�����������
�(��7���
��&�

�
�0+� �45��=�7
#�%����6
�������3�8
����?�
����
������2�������
���������������
���
��������(�����(����

����(�=�
������.�9����.���������==�&,���������
�(������&,���
�����=��
����
�����=����(
�
�
&9�.�
��
�����(���
������9�������
�����������.������
�(��
����������������(������������(����

�
�0*� �45��=�7
#31��/�1�%�431
8������3�8����������� 
�������(��=����(
�
�
&9�(��=�
�
�
�����9�(��
�

����(
���9���
����
���������;�
��((����������
��
���
��

��(
�
�������(�������(
����
�
�0$� $45��838
38
4�7�
�%
���
���/�1�3=�
���7��8�35
��2�8
��
�22
���D���27��8�����
���������
��

������
������=�����
���	(�����(�8��.
�����(���9���(�������8�
������
�9������
�
���9�
������
�
��
��(
��9�%�����9�����E�9�<��E�������
�����
�;���������

�
�0#� �11�2�����7
 �%7
��1;8�7
1�5�13�6
:;3273%�
����������9���(���������
��=���������=9����������

=�������9����������
�����
�(�������(����;��������
����(�����(����.
��������
���=���
�=��(������
�
�0)� !�%1����
5�����44�8���
3452�4�%���3�%9�
���,������
����
������������(�������(��(����
�
�0!� ";83%�88
=3�:323�6
�%7
8;8��3%�:323�6�����;�&�
���

��(
��������
��
������
��
���
������
��=������

����=��A�(
�9�����������������9�������������;�
,����
�����
������������;���������
���0�2��
���&�
��
(��
��
������ .�����9� ���� =��(
�(��� =��=����9� ��
��
���
� (�=�
��� ��� ��
� ����
��� ��� (��=�
�
�
�� H�
��
��
���
����.��
���==��
���
���������������
��������
��
���(��
����(�=�
��9�(���������
��.�
�����;0�

�
�0"� �������31
:;83%�88
4�%���4�%�
=���(�=����������=��
��
���������(
�
����������9��(�����(�����

=��A�(
�=���������(�������(
�������
��������
�(������������(��
� 
�9���(�����������
���(�
�������I������
����4������9��
��
���(�'���&���9�?����
�&�����2��=�
�
���'���&���9�I�����2�����9�2����2��=�
��(���9�
2��=�
�
�
�� '�
��
����9� ?����
�&� 2���
���9� �
��
��&� 7�
���=���
9� �
��
��&� ?�=�����
�
���0�
��������
���9�4��������
�������(������&����(��������

�
�0��� ����%��8�358
��� 
������� 
&=��
��&� ��� �
��(
����� ���� �=
����� ��
���� ������
� ���� �&�������9�

��(������������(,���
�
�����
������=�9���
����
������=��
������=�9�A���
�
��
����9������=��
������=��
.�
����
�����������
��=�����9���
����(���9�����(������9�
�(������&�������(���������������
���

�
�0��� $%��%13%�
  3%�%13�2
 #��D��8� ����?��
�
�
������7�
���=���
�������=��
��
������

��(
��������

����
�������������
�&����.�������
�����������
�(��������������
��
���
0�4��&�(���
����������
���
��
.���� ��
���=��� �����(���� ���;�
�� ���� ���
�
�
����� .��(�� (����� ��(���
�
�� �������(��
� ��(������� ���
�(�����(��(
�
�
&9�
��������((����
���
���������(���
������(�����(��������(����
9��������������(�9�
��������������������(�9�=��A�(
������(�9�
��
����(�=�
��9��
�(;�� (�������B��
&��������
����
�����
���

�
�0��� ?��
���(����������31��
��5�7
�������(
�&���==��
������@��7������:���������
��
��&��������
��������

7�
���=���
9�.�
�����
�������=����������(�����(���
���=���
0���.�
��9�
�����=�����
�
��������
�����(�������<�=����������;�&�=�����
���0��������
��=��=������������(����������������������(
�&�
�==��(�����
��<�=��9���(���������
����
���=���������������=�����
�
��������(��(��
���������=�(
�
=��A�(
�9�(�������
����
�8�����9�'���(������<�
������%�
���0���
�

�0�+� ?����;��
���31���������������=���(����(��=�������<�
�������
��
��&��������
��������7�
���=���
9�
��(�������
���:7������8	':9�
���
����.�
����
��������
��
�������
����������������(
�������
���0�@�����
4�(��,�(�����(����������
�������������&��������((������9��������(�
�������.9�
���;�&�(����������
���� 
�� ��
���=� ���� ��=�����
� ����(
�
�� =���������� 
�� ����
��
����&� ��(������ 
��� ��
���� ���
���
���������(�����(����.
�9���
��
���
�������=��&���
0��

��



���������	
���
�
��	��	��
 
 ����
-
��
-


�0�+0�� ���
��'���(�E��#�1��/�1�%�431
#�%���4�%�������������((������9�����(����
������(�������(�
������
"F�
������� ��=���&��9*F����87�0�?����
����.�������(���
�.�����
���
����
����#F��������9���
�
������(�������
���
�����F�����
��(�����(&���(��������=�(
�������(��
�9������ (����
����(����������
����9� ���� ���� �
���� =��(��0� $?1�883=�� :����
�� ���;� ���� ��
���� 3%����8�
 ����8� ��
�� �����
�������(
����
�����(����������9����=���������.
��.�������
�����(�����
��(
�����(��
,=���������
�����

�
�0�+0�� ���������(����������
�����(����B���
�����������
��+9�F�.�
����=��
���� =��
����������(��
���0�

��.�
��9� ���
������ ����� 8��.
�� ���� 	�=��&���
� ������� �����
�� ���� 
��� (�����(&� ��������
�����
�����9�.�
��� (������(��
�����������������(�������(�0��

�
�0�+0+� '� 4���
 ����1�3=�
 8�2;�3�%� ����� ��� �� ���
�,=������� ���(��� ���� ����
��&� �
��
��&� 
�� �(���
��

���
�������������
�������.
�9�.�
����==�&,���������
�(������&,���
�����=��
����
�����=����(
�
�
&9�
�����(��� 
������9� 
����� ���� ��.��� ���
� (��
�9� ����(���� �
��(
����� �����
���0� � 8��.
�� ��� �����
��(�����������
���;�&�
�����
��������
��
���
�����(�����(&��
�����
&0�
�

�0�*� �������837�%�3�2
������
�;443�����=�������
����������
��������������((�����
����8��.
������
	�=��&���
9�.�
������(��������=�����
�
��������=��������(�����������
�.�
���������=���������
��
������
��������=��
������=��.�
��
���=��
�
����(
��������
�����
�;��������0��

�
�0�$� ��;��
���31�
7�4�%8�����8�
��
� 8��%7��7
#�1��/�1�%�431�-��(�������4���
��&�=���(��������

%��
 8;��313�%�
���
�1�%�431
 ������0� ?��
���9������=��,�(
�
���
��
������������=�����
�
����
=���������������������
�����
�����.
�9���
��
���
�������=��&���
��
�������
���0��

�
�0�#� ������1�44�%7��3�%8����
���==�&9���(�������
�����=��
��(�������=��%4�%�
�8
�
4�>��
��2�


52�6������
����(����&9�(�=�����������
����
����(�����(����.
��=��(���9�.�
����<�
�����������
����
�����:+�+���(��=������������+�F����87�����:��������0��������B������������
������
���=��(�=
����

��
� ��
������
E�� ����� ��� ��� ��������(��� �����9� .���� ���� ��
������
�� ��
�� ��� �������
� ����� ���
�(�����(� ���������
9� �
��� ��� 
��� ���
� ��
���=��� ����� ���;�
� �(�������0� �����(� ��(
���
��
��
���
9�������(�
�������� =����
����
��=����(
�
��=���������9�=��������(�����������
�����
���E��=�����
�=���
�
��.�&�����.����
�������(�����.
�9���
��
���
�������=��&���
��
�������
����






�*
 ���(��!���
$!���#�!
���
��
���
�$($���#$��
���,$!��


�
+0�� '
����
��(����%�
���
3452�4�%���3�%
5�����44�8���
�����������
���������
���;�&�=�����
&0�@�����


������
��(�����
������
�������(�����(���
���=���
��
��
����������=��A�(
��
��
��&�����������9�
���
���.�=�(�������=�����
�
���������������&��

����
���
������(;����(�=�(�
&9���
�������
������������
����
�
���������
��0��11�2�����7
1�5�13�6
:;3273%�
3%
D�6
��1;8
����8�����������������
�(��
��
��&0��
�

+0�� ?
����������
���
��
�
�����������������
�������
���(�
�������
�������������=��%4�%�
�����=��,�(
�
��
2��7��
�%7
7�3=��
��
�1�%�431
����������
����
������=����
����(���
�
��0�8�
������
��������
�
�����
����
������
�������
��&�(�=�(�
&���,�����9�����
���������
����
����(�����������
�������
��������
=����������������
�(���(���� =��
�������.�������=�&��(�������
��&�(�=�(�
&0��

�
+0+� ���� ���
��(��� ���� :��3%%3%�
 ��
 52�6
 �
 4���
 5��/�1�3=�
 ��2�� 
�� ��������
� �������� .�
��

(�����=���������
���������((���0�8��
�������
��(�E�������?J����
��
�
��������� ��=����������(�����
��������,��;��=�������������(
�������.��(��8�
������
�=��&��
������������������
���=�����
��
�����9�
����
��&����;�&�=��A�(
�����;�&���(
���9���
��
�������������
��(
���������

��(
����=��
�
����
��
���
0�
I����������
��(�����������������
�����.�5�83�3=�
��8;2�8����
�����������.
��������=��&���
0�

�
+0*� <�
���.
�� ��1�44�%78
 �
 5��/�1�3=��
 3%�������7
 �%7
 1���73%���7
 �55���1�� ��(������� ����

�=�����������
������
�����
���=��
�
����(
��9���������

��=
����
����(���
�
��
����=��(����
�������

���
�������=��
��(���������=��
���
�0��

�
+0$� '� �;44��6
 ��
 ���=3%13�2
 3%3�3��3=�8� ��� (��
������ ��� 
��� :�=��
� ��� ...0��
���.
�0(�01�9�

��(�������	��
����2�=�9�-�����
�
�9�8��
���9��><9�%��=�=�9�4=��������9�<��
�����2�=�9�<��
��
@��
�����@��
����2�=�0���=�(���(�7�=��
���
���

�������
���@��7�	
��
����(������-�����
�
��4	2�
��(����7�
���=���
��%��=�=��4	2�����7�=����-����(�9�	(�����(�'������9�������������	�
�������
��
%��=�=��4	2�����7�=���������=��
��4=�������������(�����
���������������7�=����'���(��
��������
	�
�������
��<��
�����2�=��4	2�����7�=
������(����7�
���=���
�����7�=
�������������<��
��@��
�
7�=����%�(���8�
������
0�

�
+0#� ?
� ��� ��
������ 
��
� ���
�������� �(�����(� ���.
�� ���� ��
���=���
� =��A�(
�� ���� ��=�����
�
����

=����������.���������22���7
;5
3%
�22
���
���=3%1�80�



���������	
���
�
��	��	��
 
 ����
.
��
.


+*
 ��!��
���,$!��

�
*0�� '
�%�(�����
��9��11�88
��
:;7�����6
��8�;�1�8�
3452�4�%���3�%
5��1�88�8
�%7
1���73%��3�%�

.�
�� 
��� =��
��(��� �==���� 
�� ��� 
��� ����� ���
�(���� 
�� �(�����(� ���.
�9� .�
�� .���� 
����
�����
��
.����
�����A���(�
������������������(�����
����
���9������������(��
�(���������������0��
�

*0�� ���
 4�>��
 13�3�8� �==���� 
�� ��
�� ������ �
��(������ 
��� ���
�(���� ��� (��=���
���� .�
�� 
�����
���=�(
�
�� =��
��(��� ��0� ������������� ���� ���
����� ���� ��
������ =��
�� ��� 
��� 8��
���� ����� ?J�
���
��
�
�9�.�����7����������2�=����.����
��������
��������
��������������.
����(
������(�����

������9�����,=��(���������������
�
������
��������������
�&9�(�=�
�����������'8�'�����
���	C�-����
������ ��������
0� ?��
�
�
����� ��(�� ��� 7��'� ���� 
��� 4���(�=��� ?�����
��(
���� ?�
��
���
� C��
��
54??C6���
��=��&���;�&���������������(�����
��(
�����9�
���
����.�
��=��
�
����(
���=��
�(�=�
���0�?
����
��(���������
��
�
������������������������
�
�������������(���������������=��
���
�0��

�
*0+� �4�22��
 2�1�2
 �;����3�3�8� ������� ��� ����(�����&� ����
���� ��� ������(��� ���� ��=�����
�
����

(�=�(�
&9�.���������������
���������
���
������=�
��
&9�����=��&���
��������������1�
���0���������
��(��� ��
����
���� ������� ��� ����� 
�� �((���� �� �������������������
��&�������(��9� ��
��
���
�����
��=�����
�
����(�=�(�
&����(��=���
����.�
��
������
��(�������8�
������
�7�=��
���
�0��

�
*0*� ?
������(���������
��
����3%�������7
1��5����3=�
5�����44�
��
�1�3�%�.�
��������
��
����
��

����
���������������(�����&�
�������(��
�������(�
������������
��&�������(���������=�����
�
����
(�=�(�
&��������������(�����
����
����
�����
���(�����(����.
�9���=��&���
�������
��
���
0� �����
=�������������(
����.������B����������8�
������
���2����
���
�����.�����������(
�
�����
������=��
��
.����
��������(��������
�
����(
���9�7�
���=���
�'���(���������
�����
�;��������0�
�

*0$� <�
���.
�������������
�
���
�������
�
�����;��%�
�88�13��3�%
��
��1�2
�;����3�3�8�E����F����
��
���=�������������(
�
��?�
����
�������%�(���	(�����(�7�
���=���
�������������������A�(
�9�
��(�����������(�=���
������(�����4�������9�����.���9�7�����
��9�	;��������9�	����������������;.���9�
���.�������������������9����.��������<��
��@��
�2��
����7��
��(
�2���(��0�'�����������=��
�����
��1�2
3%3�3��3=�8�������������������...0��
���.
�0(�01�0��

�
*0#� #�����%�� .��� ���(������ ��� �� =���
� =��A�(
9� ����(�
���� 
��� ����� ���� �� 4���
 8;:8��%�3=�


�%�������7
��=�2�54�%�
������44��
������(;���
��
���
������9����������
��
�����������
���
��(�����������������(����&�����������
����
�����(��������
���(����������������
�&0���
��
��������������
��
��
���
����.�
����
�����������
������������;��%�
 �%7
�����

�8�
 ���=3%1�8�
���
.�
��
��

=��
�(�=�
������
�22
8��D���27��8����(������
�

*0#0�
 ��=3��2383%�� 
���43%3%�
�����
�&� ���� 
��� ��
���=���
� �������
���:�%��313��3�%� �����
����� ���
(��=���
����.�
��
�������������������

*0#0�� 7�
���=���
�������31;2�;���
�67��5�%31
���43%�
�%7
����/5��1�883%�B



*0#0+� 7�
���=���
����4�%;��1�;�3%�
�%7
738��3:;�3�%
3%7;8��3�8�������
���<�������.�&9����.���������
=�����������=��
�����?7>9�������
��
���(������
�(����
�.�&������������(
�������

*0#0*� 7�
���=���
����
�����;�384
3%7;8��6���(�������� ��
���������=��;��������(��������(���(�
��9����
.��������=��
��������(���
�������

��(
�����

*0#0$� 7�
���=���
� ��� 
��� %�1�88��6
 3%���8��;1�;��� �&� 
��� �����(� ���� ���
�
�� ��(
���� 
�� ��==��
�
�(�����(�����(������
&���
���=���
9���(������((���������9�.�
���������
�������
����=��������

�
*0)� ���
!3�6
��
,���%%�8:;��
����
(383�%
.������(������.�
��
���2��=���
�����������C��
9����
���

����
����
��� @��79� .�
���� 
��.� 
�� 
����((�����
�����=�����
�
�����������
,� �����������
����
���
��
�
���
�.�����
�������,
����
�����9�.�
��
���=��
�(�=�
������������
�;��������9���(��������

�
*0)0�� ?�=�����
���� ��� ����(
�
�� 3%�������7
 5;:231
 ���%85���
 868��4
 ��� (��=���
���� .�
��

�������
G4�
������9�
����� ��?����
�&�����
���2�
&�2���(����������
�(�����
*0)0�� 2�=�
�����������
��������
��������;�384����(���������������9�2��
���������	(�,
������9�����
���

�������������#�!$
#��D�������4��
����9�?�(��
�
��9�2�������(�������	 ����
������
*0)0+� �
�����
���� 
��� ��
���=���
� ��� ������������� ���� ����
��� ��� ��A��� (��
���
 ���
  3%�%13�2�


!�44�73�6
�%7
���73%�
#��D��89���(�����
�����(��
�&�������(���
�����(��
���
�
*0)0*� '((�����
������
��
���
����
��
"2;�
�C
=��A�(
�9���(�������<�.
�.�9�2�
&�7��=9�@���
����,'�����9�


���2�79���������
���9�
���8��
�����:�=���:����H�
���
����.�
����.�=��
�
����(
������
��
�
�����
*0)0$� ?�
����
����
�����
���=���
����
��
�
�������2�?�%7����������
�����
������������
*0)0#� 	����(���#��D��3%��
 ���4��3�%� �%7
 "��%73%�� ���
���2�
&������@�����2�����'���(��2�
&�����

8�
�.�&�
��'���(������
������
����������=����9�.�
���
��
��&�������������������;�
��
*0)0)� �&�
���
�(� ��=��
����
�� ��� ������� ��(�� ��� 8����6
 �%7
 8�1;�3�6�
 8��=31�
 7�23=��6�


��2�1�44;%31��3�%8�
8D3228
7�=�2�54�%��
8�1���
5�����4�%1�
���

��������
�%=3��%4�%������



���������	
���
�
��	��	��
 
 ����
0
��
0


-*
 �$!���
���,$!��

�
$0�� '
� ��1���
 ��=�29� .����� ��
�� 
��� �����(� ���� ���
�
�� ��(
���� ���� �������� ��� �=�(���(� �(�����(�

��(
���9������������� ��
�����(��=���
���9���(�����<����(����������
�&�����(��
����9�
������
������
��=�
����������.
��������
�����(;�����������.
���������
��(
������=��(������������=��1���9�.�
��
� (�=
�������(�����
�����
���
�
������
���������(
���0�5����...0��
���.
�0(�01�60��
�

$0�� I������� 8�1���
 3%3�3��3=�8� ��
�� ��(��
�&� ����������������(������������(��
���9� .�
��9� �����&9�
������9���
�������
9��������
��������
���(������(�
����9����;�������������(�������
�(��9�
���������
�����
�&0�'��������(��
������(���(
���?2�����A�(
�
���������
�������
�����
������������ ��=���.��(��
����������
�=�
��
���0� ����������������������������
�������
��������
��
�
�����
��&�
�
���������&�
��
�(���
�������(�������
����������
�����������.
�0��

�
$0+� ?
� ��� ��(��������� 
��
� 8�1���
 3%3�3��3=�8
 :�
 1���73%���7
 �3��3%
 �
 ���3�%�2
 ������


������44�9�.�
��������
��
����
������
��������������������
����&�
��������(��������
�
����(
����
�����
�����
�;��������0����������(���(
�����������
��(�����������
��
������=��
���
��������
��&�
������(��� 
�� =����(
�
�� �(
�
�
���� ��
��
���
0� ���� ���
�
�� ��(
��� ��� ����� 
�� �������� ����
��
����
��
��
���
�������(���
���

��(
�
�����.
��=��A�(
�0���




.*
 '��($����
�$�(�!$�
��$�!)
E'��F
�!�
���,$!�
 




#0�� '���������������(��
������(���(
���?2�����A�(
����������
���������
�������
�����
���9�.��(������������
�
=�
��
���0�C�'�.�����
����������&�
���<�
������7�=��
���
����2������(�
����������
.��&��������0��




#0�
 '��G8
#�%7���
�%7
(383�%�����
��=��
����;%3=��8�2
�11�88
��
��2�1�44;%31��3�%8����
�(��9�
=��
�(�����&� 
�� ��,���
�(��� (������
���9� ��� ������
����(���
�
����=�.�����
�����=��
�(�=�
�������
�(�����(���
���=���
��(
�
�
���0������=�(���(�
����
��
��&��
���
���9���0����
����������(��������
���,
�����
&�����
���������������
�(��9���������(����
���=�&��(������
��(���
����(���
���0�

�
#0+
 '��
�55���8
��
�5�����
���
�65�8
��
��2�/1�%���8��������������
�������������
�����
���������

�����������
�(������
���9���0�
�� ���%7��7
 ��2�/1�%���8�.��(��(��=������������������(���
��������������(��9���==��
����&�

C�'��
������������=���������
���

�� #3%/��2�/1�%���8� .��(�� ���� �=���
��� ��� �� �������� ����� ������ .�
�� ��.��� ������(��9�

��==��
����&�C�'��
���������
���=���������
���



#0*
 ���
";83%�88
#�7�28������
��(������==����
����B��������
������
���=���
9����������������������

���(�����
����
�����(�����������
��(
���������((����
��� =��
���0�'�����������1��22�%��8�.����
�==����
�����
������
����������
���=���
����
���
���,(��
����
�.������(���
����C�'E��
��������0�
�� ��8�;�1�8������ =�������

�� �%1�4��������
�����������
��������
&��

�� ��4;%����3�%�����
����
�

'�����������8������3�8�.�������(������������
��
���
���9���(��������
�

#0$� #��D��3%�
�%7
$?5�%83�%
3%12;73%�H


�� 4��������(
�
��(������(�
����
��(������
��������&��
�����������
�����(��������
���=�����&�

����
����;�
������������������������

�� :��(����������������;�
����(�������
������
9�(��=�����9��(�����������
������������
�����
����������
������(�����(����������

�
#0#� ���7;1�
�%7
���=31�
$?��%83�%
3%12;73%�H


�� 2����?2�����
�(�����(�����
���=�����9��� 9��(������9���
����
9�=��
�(�=&����
�� :���
������
�(�����(�����=���
���9������������
&=���

����
�� �������� ���
�(��� ��(�� ��� ?2�9� 2��=�
���� ���� �
���� ��������9� ��(�� ��� ��� ��������� �;����9�

���������
����=�.���=��=�����������,��=��&���
������������
���=���
�
�

#0)� ����%�3�2
5���%��8�358���(��������
�� �(����������2��=�����9���0�(&���������
�� ���;������-����(����?��
�
�
�����
����=��
���((��������
�������,��
���������(�������
�(���
�� ���;��9�4�������=���
��������
����'����
�����(����0�
��=��
���� ������������������((���9�

=�����������
�=�������(�����9����;�
���9�
�����������������(�?������
��������������
�� 	�;���������.���(��
������&���==��������
���������������
�� 	B��=���
�=��
������



���������	
���
�
��	��	��
 
 ����
�
��
�


#0!
 ";83%�88
�;8��3%�:323�6
�%7
#�%���4�%�
�D3228

�� ?�=��
����
���==����
���������������";83%�88
#�%���4�%��
#��D��3%�
�%7
 3%�%13�2


#�%���4�%�
�D3228�������
�������,(��
����=���
���9�����.��(����:;83%�88
4�%���4�%�

���3%3%�
5�����44�����=��=������

�� ?�=��
����
���==����
���������������
�����4;%����3�%
�%7
�;%73%���
��(
�������
�������,
(��
����=���
���9��������
���
��=����(
�
�
&9���(����������
��������
�����
��������==��
��

�� ?
� ��� ��(��������� 
��
� 
��� ���
�� �
��
������ ��� (���������� ���� ���
���� ��
��
���
���9�
�������
��������3452�4�%���3�%��&�C�'�

�
0*
 "�%D3%�
�%7
 3%�%13�2
���=31�8
�
�
)0�� ����84�����������
�������
������;����2���(�������'9�2���2��
���������(�
���
��
�
��������
�&����

(����

���
��:���7�%3%�
�11�88
 ��
�3%�%13�2
8��=31�8������
�������������
�������������0�����
(����

������ 2	�E��.����������
���� �
��&�.��;� ��
����� 
������ ��
��������
�
�
���
��
����������
��=�����
�
����=��(����������������(
0�����2������
&�:���
��
���
�����������������������(������0��

�
)0�
 �����
 8������3�8� ���� ���.
�� ���� =�
��
���� =��A�(
�� ��� �����(���� ���
�(��� ���� ��
��
���
� .����

���(�������&�7�������8����������
����'�:����
�����;9�2��������
����'��'�����'������4�1.������
4�1.�����(���
���������4��
����.��
9�2�����
��
�
����������?������(���

�
)0+
 ���
���=�8�H
<�
������?�
��
���
�2��=���
����K���(;�������L����A�(
�.������(�������&�<�
���.
���


�*� �����
���>�1�8����(���������������.,�=���(�����3�
�
!0�
 $%���6H
��*
 $8D�4
'��1����'���1���&�
����������
��
��
�����
����
�
��	����&��&�
������


$8D�4
$%���5�38�8����(��������
��
���
������
���:����������,(���������������
��������
�'���(��
�
!0�
 
����
 �%7
 ��%3���3�%H
 
 ��%7
 
����
 =���������� ���
 � =������� ��� �((���� 
�� .�
��� ����

����
�
������=��:���

�����(������
&�=��A�(
�����
���@��
����2�=��
�
!0+
 $7;1��3�%
�%7
��1�%�2��6H��I�����������,��
�=����������.�������(��������(��������
�

�� �3�4�%8���(������&�?��
�
�
��
��������������
�,�;������?��=��������������:���%���� ����.�
���
�� "�8��%�
�(������&,���������������(��
�����:���'�����
1�
�� ���������G8�=��������
�����������
����
�������������(���������.�(��
��2E���:���	��(��
���������
�� 
��27�5�1�G8���
����
��
�(������&����������,���������(�
��������
��&��:����������2����������
�� ?�
���(
�
��:;83%�88
834;2��3�%
����=��������(�����������
��&�
����:���4��
����.��
�
�� ��%7�%
�1���2
��G8���(�����������������������
�����(�=�(�
&����������=������������

�� �
��
������
������(;�
����������(�������3�%�2
�D3228
 ;%7����:+9$����:���	��(��
���������
�
!0*
 ���31;2�;��
 �%7
 ����/5��1�883%�H

�����������
�((�����
�����=�����
�
�������
�����
����
���

��������
���=���
��
��
��&9� .�
��
���(��=���
�������
���<�
�������������
��(����7�=��
���
�����
'���(��
���9�
������
�
����(
��9���������������(��=���
�
��9�
���%�������;������
�����
�;���������

�
!0$
 ��;�384
 �%7
 ���%85���H
��
�������&���
'(���=�����
�������
��.����
���
����������;�
�������

����������� (�
�������=��
���
���=���
������=��������=��A�(
�����(�����
��������
�'���(�0�
�
�

!0#� ��;�384�
 
����
 �%7
 ���>�1�
  3%�%1�� �
��
������ ���� =��A�(
�� ��� 
������� .����� �������� .����
���(�������&�'����������������4������@�����������=�
��(;���������?�
����
�����9�2�����
��
��

�
!0)
 �;:231
$%���5�38�8
��8��;1�;�3%�
�%7
��=�2�54�%�
.������(�������&�
���7�=�
&�789�4��� ����

8��
���9�����(�
����
��
�
����
��&���������(
������
����(����&�=�����
�����
�=����==��
���
��������
���.
�� ���� ��
���=���
9� ��(������� �����(��� (��=�
�
�
�����9� ��
��
���
9� ��=�.�����
9�
��
����(��������� =�������
��������
�'���(�0��
�

!0!� ���3�%�2
���7;1�3=3�6
�%8�3�;���=��A�(
��
�����;�=����(
�
�
&�.�
�����
����������
���=���
�
�
!0"
 !�44;%3�3�8�
�D3228
�%7��44�
��=�2�54�%�H
'��������������
��
�
���.�������(��������(������9


��0
�����������9�I�(���9�4������9�>�;����9�4������&���9�������9�4���
�.��9���49�2�������2��
���
����:�
��&�?�
����
�����E��.����,.�������������=���
.��;���
����
������=��
������=�=��A�(
����

�
�88;�7
���
1�44�%��
���7:�1D
�%7
��22��
;5
:6



$�31
��322��4�%
�%7
���������
!���73%����8B
��
��5��4:��
����

��2
�0
��
+��/-+��B
 �?
�0
��
+��/���0B
$4�32
����I%��������*1�*J�



